Name: Addition

orking MathematiCally
9063 + 60 = w M
There are 4628 paying
6806 + 80 = &7 spectators and 40 staff in
the basketball stadium.
3646 + 50 = How many people in the
stadium?
9324 + 30 = 2) Jeremy was born in 1996.
S o) ,, In what year
3587 + 70 = = > will he turn 60?
1 ]
1996 ?
9424 + 40 = .
— 3) SK Navy Ship []
Sailors : 3629 — 2000
S - Officers : 80 d 88 GoGa00R
3385 + 30 = How many people on board the ship?
5262 + 10 = 4) TéOm
1007 + 80 = \ 2538m
8483 + 70 = How high is the mountain?
6685 + 30 = B) 2622 children and 90 teachers
attended the school spectacular
2795 + 40 = rehearsal. | '
o How many people at
9391 + 20 = the rehearsal?
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